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Goal of the work:

Spiral density wave (SDW) parameters 
determination from three-dimensional velocity 
field of young OSCs using kinematical equations 
including the SDW perturbations according to Lin 
and Shu theory
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According to (Lin,Yuan & Shu, 1969):

 . 
 

which were found by solving the following nonlinear 
optimization problem:

Adopting Ro=8kpc, m=2, we have p=12 unknown 
parameters
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where

Nonlinear optimization problem:



  



  

 RESULTS

       U0                             V0                             W0



  

        Ω0                              Ω0’                          Ω0”



  

             fR                                fθ

    i χ0



  

 U0=9.0±1.0  km/s

 V0=11.5±0.5  km/s

 W0=9.5±0.5  km/s

 Ω0=27.9±0.6  km/s/kpc

 Ω0’=4.0±0.1  km/s/kpc^2

 Ω0”=0.62±0.2 km/s/kpc^3

  K=-1.1±0.2  km/s/kpc

  fR=-5.5±1.0  km/s

  fθ=3.0±1.0  km/s

   i=-5±0.5  deg.

  χ0=-120±20  deg.

  Average solution:



  



  


